
   

  

      (DENG 21) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

(i) ENGLISH PAPER - II 

Time : Three hours              Maximum : 70 marks 

All Sections are compulsory. 

SECTION – A  

1. (a) Read the following passage and answer the questions.           (5) 

Ancient India was an advanced knowledge society. Invasions and colonial rule 

destroyed its institutions and robbed it of its core competence. Its people have been 

systematically degraded to lower levels of existence. By the time the British left, our 

youth had lowered their aims and were satisfied earning an ordinary livelihood. India 

is a land of knowledge and must rediscover itself in this aspect to achieve the quality of 

a developed nation. 

  (i) How did India lose its competence? 

  (ii)  Why did the youth lower their aims? 

  (iii) How can India become a developed nation? 

  (iv)  In which lesson is this passage found? 

  (v) Who is the author? 

 (b) Read the text given below and then answer the questions that follow by choosing the 

right answer.                     (5) 

  Hearing that a zookeeper has managed to train a tiger to live in the same cage as a 

goat, a man pays a visit to see if it’s true. Amazingly, the man finds the animals lying 

next to each other. ‘How did you do this?’ he asks the keeper. ‘Is this a trick?’ ‘No’, 

replies the zookeeper, ‘this has been going on for three months now. I don’t mind telling 

you, though’, he confides, ‘we’ve had to replace the goat a few times.’ 

  (i) The man visited the zoo because he wanted to ————————. 

   (A) meet the zookeeper. 

   (B) spend time with the tiger and the goat. 

   (C) see the tiger and the goat living together. 

   (D) see the tiger eat a goat. 

  (ii) ‘We’ve had to replace the goat a few times’. This was because 

   (A) the tiger and the goat were good friends. 

   (B) the tiger got bored with the goat. 

   (C) the hungry tiger ate up the goats put into the cage. 

   (D) the goats grew afraid of the tiger. 

 



   

 

  (iii) By putting the tiger and the goat in the same cage, the zookeeper was —————

the public. 

   (A) deceiving 

   (B) shocking 

   (C) entertaining 

   (D) informing. 

  (iv) Synonym for the word ‘replace’ is 

   (A) Precede 

    (B) forfeit 

   (C) recover 

   (D) change 

  (v) Antonym for the word ‘replace’ is 

   (A) restore 

   (B) keep 

   (C) receive 

   (D) alter 

2. Answer any TWO in about 100 words.            (2 × 4 = 8) 

 (a) What is PT Barnum’s advice to people about savings? 

 (b) What is Helen Keller’s plan for the first three days of sight?  

 (c) Sketch the character of Edward Middleton. 

 (d) What are the sources of knowledge? 

3. Answer any ONE in about 200 words.             (7) 

 (a) How did Gandhiji realize that it was his character that made a gentleman of him? 

 (b) Summarize L.A. Hill’s advice to a person to become a successful writer. 

 (c) What is the central theme of ‘The Drunkard’? 

SECTION – B 

4. (a) Answer any ONE in about 100 words.             (4) 

  (i) What is the immediate effect of the bird’s song on Keats? 

  (ii)  What is the connection between the river and the ocean? 

  (iii) Describe the lover as portrayed by Browning. 

 (b) Explain any ONE of the following :             (4) 

  (i) And set the wall between us again. 

  (ii)  Like the weary rivers of the blood. 

   that bear the scum of ancient memories. 

  (iii) My whole heart rises upto bless. 

   your name in pride and thankfulness. 



   

 

5. Answer any ONE in about 200 words.             (6) 

 (a) Critically appreciate, ‘Ode to a nightingale’. 

 (b) Comment on the central theme of Dickinson’s prescribed poem. 

 (c) Summarize the main ideas of ‘The Gift of India’. 

 SECTION – C  

6. Answer any ONE in about 200 words.                    (6) 

 (a) Bring out the appropriateness of the title ‘Ha’ penny’. 

 (b) Comment on Tagore’s art of characterization in ‘Subha’. 

 (c) Narrate in your own words the story of ‘The Lottery Ticket’. 

 SECTION – D 

7. Read the following passage and summarize it.             (5) 

 With the discovery of radium, fame came to the Curies - and they did not enjoy it. The two 

great scientists had discovered a secret nature and later they were to make other discoveries 

and give them to the world. And how did the world respond to them? By giving them the 

things they had wanted the most? In fact, the only things they wanted were a good 

laboratory, peace and quiet! Every day, they received letters inviting them to write articles 

for the newspapers, to lecture at public meetings and even to give money to unknown 

persons. Men from the newspaper offices in Paris came to their little home to take 

photographs of everything, from their baby to their cat and to ask for their opinion on all 

sorts of subjects. For the curies, all this was the most painful of experiences from which they 

did their best to escape and never completely succeeded. It left its mark upon them. For 

many years, when strangers stopped her on the streets to ask, “Aren’t you Madame Curie?” 

Marie would answer in a cold voice mixed with fear, ‘No, you are mistaken’. 

8. Write an essay on any ONE :              (5) 

 (a) Role of senior citizens in Indian Society. 

 (b) Discipline 

 (c) Manners maketh a man 

9. Answer any ONE of the following :                                 (5) 

 (a) Write a report on the cultural fest in your college. 

 (b) Write a report on the increase in crime rate in your city. 



   

 

10. Use any FOUR in sentences of your own.             (5) 

 (a) broke down 

 (b) gave in 

 (c) Put up with 

 (d) to pull through 

 (e) Herculean task 

 (f) lion’s share 

 (g) bell the cat 

 (h) apple of one’s eye 

11. Answer any ONE of the following :                        (5)

   

 (a) Write dialogues between parents on what birthday gift to give their child.  

 (b) Write a letter to your father requesting for extra money for the class excursion. 

 (c) Write a letter to the principal of your college asking for a week’s leave to attend your 

cousin’s wedding. 

—————— 

 

 

 

 

 

 

 

     



   

 

       (DTEL 21) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

(ii)  TELUGU PAPER – II   

Time : Three hours  Maximum : 70 marks 

1.{Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³† ç³§éÆæÿ¦ ™é™èþµÆ>ÅË$ {ÐéÄæý$…yìþ. (8) 

 (a) A…«§æþ {ç³{MìüÄæý$ è̄þ$…yæþ$ Æ>¶yæþ$ ÐèþË$Mæü… yæþçÜÃ{™èþµ™éç³{MìüÄæý* 

  Væü…«§æþ… _… è̂þ$Mæü Ìôý§æþ$ Ò$Ææÿ$ Væü$Ææÿ$Ðèþ#ÌŒý M>Ææÿ$×ýÅ _™èþ$¢ÌŒý Ðèþ$¯ø 

  º…«§æþ$ÌŒý Ðèþ* è̄þ$ÅË$ Ðèþ*Mæü$¶ »ñý§æþªË$ Ðèþ$Ðèþ$$… »êsìý…_ Æÿ$* »êËMæü$“ 

  {Væü…«§æþ…º$ÌŒý è̂þ¨Ñ…_ ±† Mæü$Ôèýº… V>¶ gôýíÜ Ææÿ„ìü…ç³Æóÿ! 

 (b) Ðèþ*íÜ è̄þ `Ææÿ Væür$tMö°, Ðèþ˜¯èþÐèþ$$™øyæþ °ÆæÿçÜ¢ ¿æý*çÙÄñý$O 

  ÐéòÜ è̄þ Mæür$t Væüsìýt, °yæþ$ ÐéÍMæ  MæüçÜ$¢Ç ç³r$t Ððþsìýt, ÌZü  

  V>íÜ†, `¶Mæüsìý…sìý Mæüyæþ Mæü…Mæüsìý ò³O fË§é…™èþ ^èþ…{§æþ Æóÿ 

  V> çÜ§æþ–Ô>…WÄñý$O ´÷ÆæÿÌñý V>Éæþ Ðèþ$¯øf ÑÚë§æþ Ðóþ§æþ¯èþ Œ̄þ. 

2.{Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… è̄þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄæý$…yìþ. (4 × 2 = 8) 

A&¿êVæü… 

 (a) ^èþ§æþ$Ðèþ#ËÌZ Ðèþ$ÆæÿÃÐðþ$ËÏ f¨Ñ† ™èþ…{yîþ. 

 (b) ±Ðèþ# §æþÄæý$Væü¯öȲ èþ Mæü$…yìþ è̄þ °ËÓ ó̄þÆæÿ$¢̄ óþ   

 (c) D Væü$×ý… »ôýË? ±Mæü$? 

 (d) AÀÐèþ* è̄þÐèþ$$¶ Væü*ÇÃÄæý$$ ¯ðþ…§æþ$¶ »ZÄñý$¯ø! 

  



   

 

B&¿êVæü… 

 (a) ‘‘¯é Äñý$yæþ§æþ {Ððþ*yðþŌ èþ §æþ$íÜ¦†’’ 

 (b) ‘_Ñ$Ã ÐðþÔ ðþ è̄þ$ ™èþÆæÿ™èþÆ>Ë _Ðèþ$Ã `MæürÏ ð̄þËÏ’ 

 (c) °Æ>Ó™èþ ©ç³ gZÅ† ´ùÍMæü 

 (d) ¯é {º™èþ$ MöMæü çÜ$ è̄þ², M>± è̄þyæþ$¢çÜ$¯é² 

3.{Mìü…¨ Ðé°ÌZ {ç³†¿êVæü… è̄þ$…yìþ JMæü §é°Mìü çÜÐèþ*«§é¯èþ… {ÐéÄæý$…yìþ. (2 × 7 = 14) 

A&¿êVæü… 

 (a)  {ç³àÏ§æþ ^èþÇ{™èþ B«§éÆæÿ…V> & ´ù™èþ è̄þ MæüÑ™é È™èþ$Ë$ ™ðþË$µ è̄þ¨. 

 (b)  ´ëÇgê™éç³çßýÆæÿ×ýÐèþ$$ÌZ çÜ™èþÅ¿êÐèþ$ ´ë{™èþ è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

B&¿êVæü… 

 (c) }} {ç³†fq Q…yìþMæüÌZ° A¿æý$Å§æþÄæý$ MæüÑ™é Ë„æü×êÍ² ÑÐèþÇ… è̂þ…yìþ. 

 (d)  ‘‘BÆæÿ¢X™èþ…’’ ÝëÆ>…Ôèý… {ÐéÄæý$$Ðèþ$$. 

4.{Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… è̄þ$…yìþ JMæü §é°Mìü çÜÐèþ*«§é è̄þ… {ÐéÄæý$…yìþ. (2 × 6 = 12) 

A&¿êVæü… 

 (a) ´ë è̄þ$Væü…sìý ËMîü‡ è̄þÆæÿíÜ…àÆ>Ðèþ#V>Ç Ýëíßý™èþÅ õÜÐèþ è̄þ$ ÑÐèþÇ… è̂þ$ è̄þ¨. 

 (b) Æ>Äæý$Ë M>Ë… ¯ésìý A è̄þ²´ë±Äæý*Ë ÑÐèþÆ>Ë$ ™ðþËµ…yìþ. 

B&¿êVæü… 

 (c) §óþÐèþ#Ëç³ÍÏ Mæü–çÙ~Ô>íÜ̂ V>Ç Ðèþ è̂þ¯èþ Ææÿ^èþ¯é ÔðýOÍ° ÑÐèþÇ…ç³#Ðèþ$$. 

 (d) Ðèþ$ è̄þ$^èþÇ{™èþÌZ ò³§æþª̄ èþV>Ææÿ$ ^óþíÜ è̄þ Ðèþ*Ææÿ$µË$ Væü*Ça {ÐéÄæý$…yìþ.  

 



   

 

5.{Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é¯éË$ {ÐéÄæý$…yìþ. (2 × 6 = 12) 

 (a) çœ$…rÄæý$Å 

 (b) MæüÐèþ$Ë 

 (c) ç³#Ææÿ$Úù™èþ¢Ðèþ$Æ>Ðèþ# 

 (d) çÜ$¿æý{§æþ  

6.{Mìü…¨ Ðé°ÌZ JMæü §é°° Væü*Ça ÐéÅçÜ… {ÐéÄæý$…yìþ. (6) 

 (a) §óþÔèý ç³#ÆøVæü†ÌZ Äæý$$Ðèþ™èþ ´ë{™èþ. 

 (b) Ðèþ*™èþ–¿êçÙÌZ Ñ§éÅ »Z«§æþ è̄þ BÐèþÔèýÅMæü™èþ. 

 (c) AÑ±† °Ææÿ*ÃË è̄þ…. 

7.(a) (i) {Mìü…¨  ç³§æþÅ ´ë§é°Mìü Væü×ý Ñ¿æýf¯èþ ó̂þíÜ, bèþ…§æþçÜ$Þ è̄þ$ Væü$Ç¢…_, Äæý$†° õ³ÆöP è̄þ…yìþ. (5) 

   ç³r$™èþÆæÿ ±† Ô>çÜ̂ ^èþÄæý$ ´ëÆæÿVæü$¶ gôýòÜ§æþ è̄þ… è̂þ$ »êË$ ± 

Ìôý§é 

  (ii) {Mìü…¨ Ðé°ÌZ JMæü §é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ê°² ™ðþËç³…yìþ. 

   (1) Ðèþ$™óþ¢¿æý… 

   (2) Mæü…§æþ… 

 (b) (i) {Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ, Ë„æü×ý… ™ðþÍµ, çÜÐèþ$ è̄þÓÆÿ$$…^èþ…yìþ. (5) 

   ‘‘MæüÐèþ$Ìê„æü$ è̄þÇa… è̂þ$ MæüÆæÿÐèþ$$Ë$ MæüÆæÿÐèþ$$Ë$’’  

Ìôý§é 

  (ii) {Mìü…¨ AË…M>Æ>ËÌZ JMæü §é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 

   (1) Eç³Ðèþ$ü 

   (2) ÔóýÏçÙ. 

——————— 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M.  DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

(ii) SANSKRIT PAPER – II (NR) 

Time : Three hours   Maximum : 70 marks 

1. Answer any TWO questions.    (2 × 10 = 20) 

 Û`mo: CÎma§ {bIV& 

 (a) Sketch the character of Jeemutha Vahana as described by Sri Harsha. 

Or_yVdmhZñ` erb§ nmÌ{MÌU§ Hw$éV? 

 (b) Write the central idea of the Drama URUBHANGA. 

D$é^“ ZmQ>H$ñ` àYmZ bú`§ {bIV& 

 (c) Sketch the character of Duryodhana as described in Urubhanga. 

Xþ̀ m}YZñ` erb§ nmÌ{MÌU§ Hw$éV? 

 (d) Write the story of  Sri Krishnasya Maitri.  

"lrH¥$îUñ`_¡Ìr' B{V nmR>ç^mJ gmam§e§ {bIV&  

2. (a) Describe how Viswamitra attained the status of Brahmarshi. (10) 

{dídm{_Ì: H$W§ ~«÷{f©: nX§ àmádÝV:? {deX`V& 

Or 

 (b)  Write the story of {^fOmô ¡fÁ`_²& 

{^fOmô ¡fÁ`_² B{V H$Wm`m: gmam§e§ {bIV& 

3. Explain any FOUR of the following with reference to context.   (4 × 2 = 8) 

MËdm[a ggÝX^ª ì`m»`mV& 

 (a) _Ywa{_d dXpÝV ñdmJV§ ^¥“eãX¡:&  

  (b) AÌ gd} _hmamOñ` {_Ìm{U Ed gpÝV&  

  (c) gmÝÐrH¥$V§ Z`Z~ÝY{_X§ XYm{_&  

 (d) ewHo$Z M nX§ gå_mZ{_X§ nR>çVo&  

 (e) VmamJU§ n{VV_wÛhVrd ^y{_:& 



   

 

 (f) gd©ñ`mä`mJVmo Jwé:& 

 (g) nwÌeV{d_em Xþ:{IV§ g_mídmgm`& 

4. Write in brief note on any TWO. (2 × 2 = 4) 

 Û`mo: bKwQ>rH$m§ {bIV& 

 (a) ^ma{d&    (b) e§H$amMm`©:& 

  (c) n#mVÝÌ_²&  (d) O`Xod:& 

5. Define and illustrate any TWO Alankaras. 

Û`mo: bú`bjU g_pÝdV§ Ab‘>mam{U {bIV& (2 × 4 = 8) 

 (a) AZÝd`:&   (b) AWm©ÝVaÝ`mg:& 

  (c) Cn_m&    (d) C„oI& 

6. Write the forms of any FOUR of the following Sabdas.     (4 × 2 

= 8) 

MËdm[a {Z{X©ï> {H«$`m{d^{º$fw eãXê$nm{U {bIV 

 (a) Ob_wH²$ (gá_r) (b) amOZ² (àW_m) 

  (c) dmH²$ (V¥Vr`m)  (d) _éV² (n#m_r) 

 (e) {dÛg² (àW_m)  (f) {H$_² (nw) (gá_r) 

 (g) EVX²> (ór) ({ÛVr`m) (h) Añ_X²> (àW_m) 

7. Write the forms of any FOUR of the following adding the given terminations.  (4 × 1 

= 4) 

MVwUmª VÎm²ËàË``mZ² `moO{`Ëdm {bIV& 

 (a) H¥$ - Vì`    (b) nR²>$ - ë`n² 

  (c) ñ_¥ - º$dV²  (d) J_² - Vw_wZ² 

 (e) Xm + ŠËdm  (f) km + eV¥ 

 (g) Cn + J_² + ë`n²  

8. Translate any FOUR sentences into Telugu or English.   (4 × 2 = 8) 

MVwUmª AmÝY«̂ mfm`m§ dm Am§½>b^mfm`m§ dm AZwdmXV& 

 (a) Ah§ J¥h§ JÀN>m{_& 

  (b) ^aV: lram_ñ` ^«mVm& 



   

 

  (c) Y_m} aj{V a{jV:&  

 (d) ñdXoeo nyÁ`Vo amOm& 

 (e) Ëd§ Hw$Ì dg{V ñ_& 

 (f) g§ñH¥$V^mfm`_od dXVw& 

 (g) `moJjo_dhmå`h_²& 

—————— 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M.  DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

(ii) HINDI PAPER – II (NR) 

Time : Three hours   Maximum : 70 marks 

SECTION — A  

1. {ZåZ{b{IV nÚm§em| H$mo gàg§J ì`m»`m H$s{OE& (18) 

 (a) (i) `h VZ {df H$s ~obar, Jwê$ A_¥V H$s ImZ& 

   grg {X`o Omo Jwê$ {_bo, Vmo ^r gñVm OmZ&& 

 AWdm 

  (ii) EH$ ^amogmo EH$ ~b, EH$ Amg {~ñdmg& 

    EH$ am_ KZí`m_ {hV, MmVH$ VwbgrXmg&& 

 (b) (i) "a{h_Z' Xo{I ~‹S>oZ H$mo, bKw Z Xr{OE S>m[a& 

 Ohm± H$m_ Amd¡ gwB©, H$hm H$a¡ Vadm[a&& 

AWdm 

(ii) H$ZH$-H$ZH$ Vo gm¡JwZr, _mXH$Vm A{YH$m`& 

   dm Im`o ~m¡am` OJ, `m nm`o ~m¡am`&&    

 (c) (i) H$m_ H$mo Amaå^ H$aHo$ `m| Zht Omo N>mo‹S>Vo& 

   gm_Zm H$aHo$ Zht Omo ^ybH$a _w§h _mo‹S>Vo&&  

 AWdm 

  (ii) ^JdmZ H$hVo h¢ ñd §̀ hr, ^oX^mdm| H$mo VOo, 

   h¢ ê$n _oam hr, _wPo Omo gd©̂ yVm| _| ^Oo&& 

SECTION — B 

2. {H$gr EH$ H${dVm H$m gmam§e {b{IE& (10) 

 (a) H$_©dra& 

 (b) h_mam ß`mam ^maVdf©& 

 (c) {^jwH$& 

3. {H$gr EH$ H${d H$m n[aM` Xr{OE& (10) 

 (a) VwbgrXmg& 

 (b) _¡{WbreaU Jwá 

 (c) gmohZbmb {ÛdoXr&  

4. {H$gr EH$ {df` na {Z~§Y {b{IE& (10) 



   

 

 (a) XÿaXe©Z& 

 (b) {dÚmWu Am¡a amOZr{V& 

 (c) ór-{ejm& 

 (d) ~oH$mar H$s g_ñ`m& 

 (e) nwñVH$mb`& 

5. {H$gr EH$ gm{hË` {df` na {Z~§Y {b{IE& (10) 

 (a) Am{XH$mb H$s n[apñW{V`m± H$mo g_PmBE& 

 (b) ^{º$H$mb… {hÝXr H$m ñdU©- ẁJ Ho$ ~mao _| {b{IE& 

 (c) CnÝ`mg Ho$ {dH$mg na EH$ boI {bIH$a Cg_| ào_MÝX H$m ñWmZ ~VmB`o& 

 (d) O`e§H$a àgmX H$m n[aM` Xr{O`o& 

6. {ZåZ{b{IV JÚ H$m {hÝXr _| AZwdmX H$s{OE& (12) 

Most of us take life for granted. When we are in good health, death is unimaginable. Those 

who can see and hear seldom make the fullest use of these blessed faculties. Their eyes and 

ears take in all sights and sounds hazily, without concentration and appreciation. 

—————— 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

ENVIRONMENTAL STUDIES 

Time : Three hours   Maximum : 100 marks 

SECTION A — (4 × 10 = 40 marks) 

Answer any FOUR of the following. 

Each question carries 10 marks. 

1. Explain in detail about structure of atmosphere. 

Ðé™éÐèþÆæÿ×ý °Æ>Ã×ý… Væü*Ça ÑÐèþÇ…^èþ…yìþ. 

2. Define environment and discuss need for public awareness about importance of environment. 

ç³Æ>ÅÐèþÆæÿ×ê°² °ÆæÿÓ_…_, {ç³fËÌZ ç³Æ>ÅÐèþÆæÿ×ý…ò³O AÐèþV>çßý è̄þ BÐèþÔèýÅMæü™èþ è̄þ$ ™ðþËç³…yìþ. 

3. Write in detail about role of individual in conservation of natural resources. 

çÜçßýf Ðèþ è̄þÆæÿ$Ë çÜ…Ææÿ„æü×ýÌZ ÐèþÅMìü¢ Äñý$$MæüP ´ë{™èþ è̄þ$ {ÐéÄæý$…yìþ. 

4. Explain the following : 

{Mìü…¨ Ðé°° ÑÐèþÇ…^èþ…yìþ. 

  (a) Eutrophication and  

  Äæý$*{sZíœMóüçÙ Œ̄þ Ðèþ$ÇÄæý$$ 

 (b) Bio magnification. 

  iÐèþçÜ… è̂þÄæý$ è̄þ…. 

5. Write a note on Ecological pyramids. 

BÐèþÆæÿ×ý í³ÆæÿÑ$yŠþË Væü*Ça {ÐéÄæý$…yìþ. 

6.  “Role of IT in human health and environment” – Explain. 

ç³Æ>ÅÐèþÆæÿ×ý…ÌZ Ðèþ$ÇÄæý$$ Ðèþ* è̄þÐèþ BÆøVæüÅ…ÌZ Isìý Äñý$$MæüP ´ë{™èþ. 

7. Define secondary pollutants. Explain with suitable examples. 

¨Ó¡Äæý$ M>Ë$çÙÅ M>ÆæÿM>Ë¯èþ$ °ÆæÿÓ_…_, çÜÆðÿŌ èþ E§éçßýÆæÿ×ýË™ø ÑÐèþÇ… è̂þ…yìþ. 

8. Explain mechanism of global warming. 

VøÏºÌŒý ÐéÇÃ…VŠü Äñý$$MæüP Ñ«§é¯èþÐèþ$$ è̄þ$ ÑÐèþÇ… è̂þ…yìþ. 

 



   

 

SECTION B — (3 × 20 = 60 marks) 

Answer any THREE of the following. 

Each question carries 20 marks. 

9. Write scope, aims and objectives of environmental studies. 

ç³Æ>ÅÐèþÆæÿ×ý A«§æþÅÄæý$ è̄þ… Äñý$$MæüP ç³Ç«̈ , Ë„> ÅË$ Ðèþ$ÇÄæý$$ BÔèýÄæý*Ë è̄þ$ Væü*Ça {ÐéÄæý$…yìþ. 

10. Give an account on forest are of our country and their uses. 

Ðèþ$ è̄þ§óþÔèý…ÌZ VæüË ArÒ çÜ…ç³§æþ Ðèþ$ÇÄæý$$ Ðésìý Eç³Äñý*V>Ë$ Væü*Ça ™ðþËç³…yìþ. 

11. Write an essay on available water resources and their conservation practices in our country. 

Ðèþ$ è̄þ§óþÔèý…ÌZ A…§æþ$»êr$ÌZ Ðèþ#¯èþ² fË Ðèþ è̄þÆæÿ$Ë$ Ðèþ$ÇÄæý$$ Ðésìý çÜ…Ææÿ„æü×ý Væü*Ça {ÐéÄæý$…yìþ. 

12. Define succession. Explain mechanism of succession with example. 

A¯èþ${MæüÐèþ$… è̄þ$ °ÆæÿÓ_…_, A è̄þ${MæüÐèþ$ Ñ«§é è̄þÐèþ$$ è̄þ$ E§éçßýÆæÿ×ý™ø ÑÐèþÇ…^èþ…yìþ. 

13. Give an account on National and International organisations involved in bio-diversity 

conservation. 

iÐèþÐðþOÑ§æþÅ çÜ…Ææÿ„æü×ýÌZ gê¡Äæý$ Ðèþ$ÇÄæý$$ A…™èþÆ>j¡Äæý$ çÜ…çÜ¦Ë è̄þ$ Væü*Ça ™ðþËç³…yìþ. 

14. Write in detail about sources, effects and control measures of soil pollution. 

Ðèþ$–†¢Mæü M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ðèþ$ÇÄæý$$ °Äæý$…{™èþ×ý ç³§æþ®™èþ$Ë è̄þ$ ™ðþËç³…yìþ. 

––––––––––––– 

 

 

 

 

 

 

 

 



   

 

    (DICS21) 

B.A./B.Com./B.Sc./B.H.M./B.B.A/B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year   

 (iii) — SCIENCE AND CIVILIZATION 

Time : One and half hours Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Explain the age of Neolithic in brief. 

 °Äñý*Í¤MŠü Äæý$$VæüÐèþ$$ Væü$Ç…_ çÜ…„ìüç³¢Ðèþ$$V> {ÐéÄæý$$Ðèþ$$. 

2. Write in detail about the discoveries in the field of science and technology during 20th 

Century. 

 20 Ðèþ Ôèý™éºªÐèþ$$ÌZ Ô>çÜ̂ Ðèþ$ÇÄæý$$ Ýë…Móü†Mæü Ææÿ…V>ËÌZ BÑçÙPÇ…ç³ºyìþ¯èþ è̄þ*™èþ è̄þ BÑÆ>ÂÐèþÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

3. Explain the Babylonian numerical system. 

 »ê¼ÌZ°Äæý$ Œ̄þ çÜ…RêÅ ç³§æþ®†° ÑÐèþÇ…ç³#Ðèþ$$. 

4. Write an essay on Green revolution in India. 

 ¿êÆæÿ™èþ§óþÔèýÐèþ$$ÌZ fÇW è̄þ çßýÇ™èþ Ñç³ÏÐèþÐèþ$$ è̄þ$ Væü$Ç…_ {ÐéÄæý$$Ðèþ$$. 

SECTION B — (3 × 4 = 12 marks) 

Answer any THREE questions. 

5. (a) Wheel 

  ^èþ{MæüÐèþ$$ 

 (b) Insecticides 

  MîürMæü¯éÔèý è̄þ$Ë$ 

 (c) Wind energy 

  ÐéÄæý$$ ÔèýMìü¢ 

 (d) Security 

  ¿æý{§æþ™èþ 

  



   

 

 (e) Satellite 

  Eç³{VæüçßýÐèþ$$ 

 (f) Synthetic fibre 

  íÜ…«§æþsìýMŠü òœOºÆæÿ$ 

SECTION C — (3 × 4 = 12 marks) 

Answer ALL the questions. 

6. Fill in the blanks. 

 RêäË è̄þ$ ç³NÇ…ç³#Ðèþ$$. 

 (a) Beri Beri is due to –––––––––––––– 

  »ñýÇ»ñýÈ §óþ°ÐèþË è̄þ Ðèþ^èþ$a è̄þ$ –––––––––––––– 

 (b) X-rays invented by –––––––––––––– 

  GMŠüÞ&Æóÿ è̄þ$ Mæü è̄þ$Vö è̄þ²¨ –––––––––––––– 

 (c) Tele scope inventory by –––––––––––––– 

  sñýÎÝùP‹³ è̄þ$ Mæü è̄þ$Vö è̄þ²¨ –––––––––––––– 

 (d) ILO means –––––––––––––– 

  C.GÌŒý. K A è̄þV> –––––––––––––– 

7. Choose the correct answer 

 çÜÇÄñý$Ō èþ fÐéº$ è̄þ$ Væü$Ç¢…^èþ…yìþ. 

 (a) Compass is a 

  ¨Mæü*Þ_ Äæý$ è̄þV> 

  (i) Measuring box 

   ç³ÇMæüÆ>Ë ò³sìýt 

  (ii) A road 

   Ææÿçßý§éÇ 

  (iii) Detecting tool 

   ¨Mæü$PË è̄þ$ ^èþ*ç³# Äæý$…{™èþ… 

a. Pass for entry 

Vóür$´ëçÜ$ 

 



   

 

 (b) Moon is a 

  ^èþ…{§æþ$yæþ$ JMæü  

  (i) Planet 

   {VæüçßýÐèþ$$ 

  (ii) Pesudo planet 

   Ñ$«§éÅ{V>çßýÐèþ$$ 

  (iii) Satellite 

   Eç³{VæüçßýÐèþ$$ 

  (iv) Asteriod 

   {VæüçßýÔèýMæüËÐèþ$$ 

 (c) Diabetes is caused due to lack of 

  Ðèþ$«§æþ$Ðóþ$çßýÐèþ$$ ©°ÌZç³… ÐèþË è̄þ HÆæÿµyæþ$ è̄þ$ 

  (i) Bilejuice 

   MøÏÐèþ$ÆæÿçÜÐèþ$$ 

  (ii) Thyroxine 

   £ðþOÆ>MìüÞ¯Œþ 

  (iii) Vitamins 

   ÑrÑ$ Œ̄þË$  

  (iv) Insulin 

   C¯èþ$ÞÍ Œ̄þ 

 (d) Pencillin is a 

  ò³°ÞÍ Œ̄þ JMæü 

  (i) Fertilizer 

   GÆæÿ$Ðèþ# 

  (ii) Harmone 

   àÆøÃ è̄þ$ 

  (iii) Vitamin 

   ÑrÑ$ Œ̄þË$ 

  (iv) Antibiotic 

   ÐéÅ«̈  °Æø«§æþMæüÐèþ$$ 



   

 

8. Match the following 

 f™èþç³Ææÿ$^èþ$Ðèþ$$. 

 (a) Telephone  Vitamin B2 

  sñýÍ¸ù Œ̄þ  ÑrÑ$ Œ̄þ B2 

 (b) Riboflavine Soap 

  ÆðÿO»ZõœÏÑ Œ̄þ  çÜº$¾ 

 (c) Glycerol  Diphtheria 

  WÏçÜÆ>ÌŒý  yìþï³¢ÇÄæý* 

 (d) Bacteria  Communication 

  »êÅMîütÇÄæý*  çÜÐèþ*^éÆæÿç³§æþ®† 

 

——————— 



  

(DBC21) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

BANKING AND FINANCIAL SYSTEMS 

Time : Three hours  

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Functions of Commercial Banks. 

Ðé×ìýfÅ »êÅ…Mæü$Ë Ñ«§æþ$Ë$. 

2. Nationalisation of banks. 

»ê…Mæü$Ë gê¡Æÿ$*MæüÆæÿ×ý. 

3. Indigenous Banking. 

§óþÖÄæý$ »êÅ…Mìü…VŠü. 

4. Regional Rural Banks. 

{´ë…¡Äæý$ {V>Ò$×ý »êÅ…Mæü$Ë$. 

5. Indian capital market. 

¿êÆæÿ¡Äæý$ {§æþÐèþÅ Ðèþ*ÆðÿPsŒý. 

6. Collecting Banker. 

ÐèþçÜ*Ë$ »êÅ…MæüÆæÿ$. 

7. Financial system. 

Ñ™èþ¢ ÐèþÅÐèþçÜ¦. 

8. Features of pass book. 

´ë‹Ü ç³#çÜ¢Mæü… Ë„æü×êË$. 

SECTION B — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

9. Enumerate the principles of Sound lending. 

ç³sìýçÙtÐðþ$Ō èþ ç³Ææÿç³† çÜ*{™éË è̄þ$ ™ðþËµ…yìþ. 

10. Explain the merits and demerits of Branch Banking system. 

{»ê…_ »êÅ…Mìü…VŠü Væü$×ý§øÚëË è̄þ$ ™ðþËµ…yìþ. 

11. Describe the structure and functions of Reserve Bank of India. 



  

   

¿êÆæÿ¡Äæý$ ÇfÆæÿ$Ó »êÅ…Mæü$ °Æ>Ã×ê°², Ñ«§æþ$Ë è̄þ$ ÐèþÇ~…^èþ…yìþ. 

12. What are Exchange Banks? What are the functions of Exchange Banks? 

Ñ°Ðèþ$Äæý$ »êÅ…Mæü$Ë$ A è̄þV> ó̄þÑ$? Ñ°Ðèþ$Äæý$ »êÅ…Mæü$Ë Ñ«§æþ$ÌôýÑ? 

SECTION C — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

13. What do you mean by Electronic Banking? Bring out its importance in the present 

day. 

GË[M>t°MŠü »êÅ…Mìü…VŠü A è̄þV> ó̄þÑ$? {ç³çÜ$¢™èþ ÆøkËÌZ §é° {´ëÐèþ$$RêÅ°² ™ðþËµ…yìþ. 

14. Explain the precautions to be taken by a banker in opening an account in the 

name of a Trust and a Joint Stock Company. 

JMæü {rçÜ$t, JMæü gêÆÿ$$…sŒý ÝëtMŠü Mæü…ò³± õ³Çr Rê™é è̄þ$ {´ëÆæÿ…¼…_ è̄þç³#yæþ$ »êÅ…MæüÆæÿ$ ¡çÜ$MøÐèþËíÜ è̄þ 

gê{Væü™èþ¢ÌôýÑ? 

15. Define ‘Banker’ and ‘Customer’. Explain the special relationship between banker 

and customer. 

"»êÅ…MæüÆæÿ$', "Rê™é§éÆæÿ$'Ë è̄þ$ °ÆæÿÓ_…_ ÐéÇ Ðèþ$«§æþÅ VæüË {ç³™óþÅMæü çÜ…º…«§é°² ÑÐèþÇ… è̂þ…yìþ. 

16. What are the problems of Indian Money Market? Give various suggestions for its 

improvement. 

¿êÆæÿ¡Äæý$ {§æþÐèþÅÐèþ*ÆðÿPsŒý Äñý$$MæüP çÜÐèþ$çÜÅÌôýÑ? §é°° Ððþ$Ææÿ$Væü$ç³Ææÿ^èþyé°Mìü ÑÑ«§æþ çÜ* è̂þ è̄þÎÄæý$…yìþ. 

17. Who is Paying Banker? What are the duties and liabilities of a Paying Banker? 

^ðþÍÏ…ç³# »êÅ…MæüÆæÿ$ GÐèþÆæÿ$? ð̂þÍÏ…ç³# »êÅ…MæüÆæÿ$ Ñ«§æþ$Ë$, »ê«§æþÅ™èþÌôýÑ? 

18. State the precautions to be taken by banker while granting loans on security of (a) 

Stock Exchange Securities, (b) Real Estates. 

 (a) ÝëtMŠü GMóüÞüa…i òÜMæü*ÅÇsîýË$. (b) BçÜ$¢Ëò³O º$$×êË¯èþ$ Ðèþ$…lÆæÿ$ ^óþíÜ è̄þç³šyæþ$ »êÅ…MæüÆæÿ$ 
¡çÜ$MøÐèþËíÜ¯èþ gê{Væü™èþ¢ÌôýÑ? 

 



  

   

    (DBC 22) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year 

FINANCIAL ACCOUNTING – II 

Time : Three hours Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Statement of affairs. 

 ÐèþÅÐèþàÆ>Ë °Ðóþ¨Mæü. 

2. Features of Installment system. 

 ÐéÆÿ$$§é Mö è̄þ$VøË$ ç³§æþ®† Ë„æü×êË$. 

3. Types of Branches. 

 {»ê…_Ë ÆæÿM>Ë$. 

4. Profit and loss appropriation account. 

 Ìê¿æý ¯èþÚëtË Ñ°Äñý*W™èþ Rê™é. 

5. Dissolution of firms. 

 çÜ…çÜ¦Ë Ææÿ§æþ$ª. 

6. Issue of shares at premium. 

 {ï³Ñ$Äæý$…Mæü$ ÐésêË gêÈ. 

7. Inter departmental Transfers. 

 A…™èþÆæÿ Ñ¿êV>Ë ™èþÆæÿÍ…ç³#Ë$. 

8. Fixed and fluctuating capital system. 

 íÜ¦Ææÿ, AíÜ¦Ææÿ Ðèþ$*Ë«§æþ¯éË Ñ«§é¯èþ…. 

SECTION B — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

9. What is Royalty? What are the various methods of recovery of Excess Minimum 

Rent over Royalties? 

Æ>Äæý$Ît A è̄þV> ó̄þÑ$? Æ>Äæý$Ît Mæü¯é² A«̈ Mæü…V> E¯èþ² Mæü±çÜç³# A§ðþª̄ èþ$ ¿æýÈ¢ ó̂þçÜ$Mö ó̄þ ÑÑ«§æþ ç³§æþ®™èþ$ÌôýÑ? 



  

   

10. The following is the receipts and payments account for the year ended 31st 
December 2019. You are required to prepare Income and Expenditure A/c. 

Receipts Rs. Payments Rs. 
To Balance   By Salaries 2,000 
 Bank 3,000  By Rent 600 
 Cash    500 3,500 By Stationery 1,400 
To Subscription (including   By Postage 250 
 400/- for the year 2018) 19,500 By Scooter 17,000 
To Interest on Bank Deposits 200 By Fixed deposits 4,000 
To Sale of old scooter 3,800 By Balance:  
   Bank  1500 
   Cash 250 
 27,000  27,000 

 Subscriptions due for the year are 1500 and received in advance for the year 2020 
are 700. The written down value of scooter sold 4,000. Depreciate scooter @ 10%. 

 31-12-2019 ™ø A…™èþÐèþ$Äôý$Å çÜ…‘‘Mìü {Mìü…§æþ ±Äæý$ºyìþ è̄þ ÐèþçÜ*Ë$Ï ^ðþÍÏ…ç³#Ë Rê™é è̄þ$…yìþ B§éÄæý$ 
ÐèþÅÄæý*Ë Rê™é¯èþ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

ÐèþçÜ*Ë$Ï Ææÿ*. ^ðþÍÏ…ç³#Ë$ Ææÿ*. 
To °ËÓ:  By i™éË$ 2,000 

 »êÅ…Mæü$ 3,000  By A§ðþª 600 

 ¯èþVæü§æþ$    500 3,500 By õÜtçÙ è̄þÈ 1,400 

To ^èþ…§éË$ (2018 çÜ…‘‘Mìü   By ´ùõÜth 250 

 ^ðþ…¨ è̄þ Ææÿ*.400 ™ø çÜà) 19,500 By çÜ*PrÆæÿ$ 17,000 

To yìþ´ëhrÏò³O Ðèþyîþz 200 By íœMŠüÞyŠþ yìþ´ëhsŒý 4,000 

To ´ë™èþ çÜ*PrÆæÿ$ AÐèþ$ÃMæü… 3,800 By °ËÓ :  

   »êÅ…Mæü$  1500 

   è̄þVæü§æþ$ 250 

 27,000  27,000 

 D çÜ…‘‘ Æ>ÐèþËíÜ è̄þ ^èþ…§éË$ 1500. 2020 çÜ…‘‘Mìü Ðèþ$$…§æþ$V> Ðèþ_a è̄þ ^èþ…§éË$ 700. AÑ$Ã è̄þ çÜ*PrÆæÿ$ 
™èþWY… è̂þºyìþ è̄þ ÑË$Ðèþ 4,000. çÜ*PrÆæÿ$ ò³O 10% ™èþÆæÿ$Væü$§æþË è̄þ$ HÆæÿµÆæÿ^èþÐèþÌñý è̄þ$. 

11. Renu of Chennai has a branch in Delhi. Goods sent to the branch are invoiced at 

selling price which is cost plus 33
3

1
%. From the following particulars prepare 

Branch account in the books of H.O. 

(a) Stock on 2019 Jan. 1 60,000 

(b) Stock on 2019 Dec 31 48,000 

(c) Goods sent to branch 4,00,000 

(d) Sales at Branch: 4,28,000 

(e) Returns to Head Office 20,000 

(f) Expenses at Branch: 

(g) Salaries  15,000 

(h) Rent and taxes 8,000 

(i) Petty expenses 7,000 



  

   

 ^ðþ ð̄þO²ÌZ° Æóÿ×ý$Mæü$ ÉìþÎÏÌZ {»ê…_ E è̄þ²¨. çÜÆæÿ$Mæü$Ë QÈ§æþ$ò³O 33
3

1
% Ìê¿æý… MæüÍí³ AÐèþ$ÃMæü… «§æþÆæÿ™ø 

{»ê…_Mìü C¯éÓÆÿ$$‹Ü ^óþíÜ è̄þ¨. {Mìü…¨ ÑÐèþÆ>Ë è̄þ$…yìþ H.O. ç³#çÜ¢M>ËÌZ {»ê…_ Rê™é è̄þ$ ™èþÄæý*Ææÿ$ 

^óþÄæý$…yìþ. 

(j) f è̄þÐèþÇ 1, 2019 è̄þ çÜÆæÿ$Mæü$ °ËÓ 60,000 

(k) yìþÔèý…ºÆæÿ$ 31, 2019 è̄þ çÜÆæÿ$Mæü$ °ËÓ 48,000 

(l) {»ê…_Mìü ç³…í³ è̄þ çÜÆæÿ$Mæü$Ë$ 4,00,000 

(m) {»ê…_ Ðèþ§æþª AÐèþ$ÃM>Ë$ 4,28,000 

(n) òßýyéïœçÜ$Mæü$ Ðéç³òÜŌ èþ çÜÆæÿ$Mæü$Ë$ 20,000 

(o) {»ê…_ Ðèþ§æþª QÆæÿ$aË$: 

(p) i™éË$  15,000 

(q) A§ðþª, ç³ è̄þ$²Ë$ 8,000 

(r) _ËÏÆæÿ QÆæÿ$aË$ 7,000 

12. X keeps his books on single entry system and the following information is 
available: 

 31.12.2018 31.12.2019 
Furniture 2,000 2,000 

Stock  28,000 30,500 

Debtors 21,000 34,000 

Cash 1500 2000 
Creditors 17,500 19,000 

Bills payable –– 3,000 

Loan – 5,000 
Investments 5,000 10,000 

 He has drawn 5,000 during the year. He borrowed 15,000 on 30th June 2019 from 
his friend at 10% interest per annum and put in the business. He writes off 10% 
depreciation on furniture and provides 10% for doubtful debts on debtors. 
Ascertain his profit or loss. 

 X Rê™é ç³#çÜ¢M>Ë è̄þ$ J…sìý ç³§æþ$ª {ç³M>Ææÿ… {ÐéçÜ*¢ {Mìü…¨ çÜÐèþ*^éÆ>°² è̂þ*í³¯éyæþ$. 
 31.12.2018 31.12.2019 

çœÈ² è̂þÆæÿ$          2,000          2,000 

çÜÆæÿ$Mæü$ °ËÓ 28,000 30,500 

º$$×ý{VæüçÜ$¢Ë$ 21,000 34,000 

è̄þVæü§æþ$ 1500 2000 

º$$×ý§é™èþË$ 17,500 19,000 

^ðþÍÏ…ç³# ¼Ë$ÏË$ –– 3,000 

º$$×ý… – 5,000 

ò³r$tºyæþ$Ë$ 5,000 10,000 



  

   

(s) A™èþyæþ$ çÜ…Ðèþ™èþÞÆæÿ…ÌZ 5,000 Ý÷…™é°Mìü Ðéyæþ$Mæü$¯é²yæþ$. 30.6.2019 è̄þ ™èþ è̄þ õÜ²íßý™èþ$° è̄þ$…yìþ çÜ…‘‘Mìü 

10% Ðèþyîþz ™ø 15,000 Aç³š ™ðþ_a ÐéÅ´ëÆæÿ…ÌZ ò³sìýt̄ éyæþ$. çœÈ² è̂þÆæÿ$ò³O 10% ™èþÆæÿ$Væü$§æþË è̄þ$ 

º$$×ý{VæüçÜ$¢Ëò³O çÜ…ÔèýÄæý*™èþÃMæü »êMîüË °«̈ ° 10% HÆæÿµÆæÿ^èþÐèþÌñý è̄þ$. A™èþ° Ìê¿æý è̄þÚëtË è̄þ$ ÌñýMæüPMæürt…yìþ. 

SECTION C — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

13. What are the differences between Receipts and Payments Account and Income and 

Expenditure? 

ÐèþçÜ*Ë$Ï ð̂þÍÏ…ç³#Ë Rê™é, B§éÄæý$ ÐèþÅÄæý*Ë Rê™éË Ðèþ$«§æþÅVæüË ™óþyé ÌôýÑ? 

14. Mineral Ltd leased a property at a Royalty of 1.50 per ton with a minimum rent of 

10,000 per annum. Each year’s excess of minimum rent over royalties is 

recoverable out of royalties of next five years. In the every of strike and the 

minimum rent not being reached, the lease provided that actual royalties earned 

for the year discharged all rental obligation for the year. The results of working of 

the property are given below. 

Year 2012 2013 2014 2015 2016 2017 2018 

Strike 

2019 

Actual Rs. Royalty: NIL 3,300 9,000 11,100 14,000 15,000 8000 15,200 

 Prepare Ledger accounts in the books of Mineral Ltd. 2018 is strike year. 

 Ñ$ è̄þÆæÿÌŒý ÍÑ$sñýyŠþ JMæü BíÜ¢° MúË$Mæü$ ¡çÜ$Mö° r è̄þ$² 1Mìü 1.50 Æ>Äæý$Ît™ø Mæü±çÜç³# A§ðþª çÜ…‘‘Mìü 10,000 
^ðþÍÏ…^èþyé°Mìü A…XMæüÇ…_ è̄þ¨. Æ>Äæý$Ît Mæü¯é² A«̈ Mæü…V> E è̄þ² {ç³† çÜ…‘‘ Mæü±çÜç³# A§ðþª̄ èþ$ ™èþ§æþ$ç³Ç 5 
çÜ…‘‘ËÌZ ¿æýÈ¢ ^óþçÜ$Mö…§æþ$Ææÿ$. çÜÐðþ$Ã M>Ææÿ×êË ÐèþË è̄þ Mæü±çÜç³# A§ðþª̄ èþ$ ^óþÆæÿ° ç³„æü…ÌZ B çÜ…‘‘Mìü AçÜË$ 
Æ>Äæý$ÎtË$ ð̂þÍÏ…_ è̄þ çÜÇ´ù™èþ$…¨. BíÜ¢ ò³O E™èþµ†¢ çœÍ™éË$:  

çÜ…‘‘ 2012 2013 2014 2015 2016 2017 
2018 

(çÜÐðþ$Ã) 2019 

Æ>Äæý$Ît (Ææÿ*.) Ìôý§æþ$ 3,300 9,000 11,100 14,000 15,000 8000 15,200 

 2018 çÜ…‘‘ çÜÐðþ$Ã çÜ…Ðèþ™èþÞÆæÿ…V> ¡çÜ$Mö è̄þÐèþÌñý è̄þ$ Ñ$ è̄þÆæÿÌŒý ÍÑ$sñýyŠþ ç³#çÜ¢M>ËÌZ BÐèþÆ>j Rê™éË$ 
^èþ*ç³…yìþ. 

15. The following purchases were made by a business house having three departments 

 Department A 1,000 units 

(t) Department B 2,000 units          at a cost of 1,00,000 

(u) Department C 2,400 units 

 Stock on 1st January were : 

 Department A 120 units 

(v) Department B 80 units          



  

   

(w) Department C 152 units 

 The sales were : 

 Department A 1,020 units @ 20 each 

(x) Department B 1,920 units @ 22.50 each           

(y) Department C 2,496 units @ 25 each 

(z) The rate of gross profit is same in each case. Prepare Departmental Trading 

Accounts. 

 JMæü ÐéÅ´ëÆæÿ çÜ…çÜ¦ Ðèþ$*yæþ$ Ñ¿êV>Ë$ MæüÍY E…r* {Mìü…¨ Mö è̄þ$VøË$Ï ó̂þíÜ è̄þ¨.   

 A Ñ¿êVæü… 1,000 Äæý$*°r$Ï 

(aa) B Ñ¿êVæü… 2,000 Äæý$*°r$Ï          Ððþ$$™èþ¢… ÐèþÅÄæý$… 1,00,000 

(bb) C Ñ¿êVæü… 2,400 Äæý$*°r$ 

 f è̄þÐèþÇ 1 è̄þ çÜÆæÿ$Mæü$ °ËÓË$ : 

 A Ñ¿êVæü… 120 Äæý$*°r$ 

(cc) B Ñ¿êVæü… 80 Äæý$*°r$          

(dd) C Ñ¿êVæü… 152 Äæý$*°r$ 

 Ñ¿êV>Ë AÐèþ$ÃM>Ë$ : 

 A Ñ¿êVæü… 1,020 Äæý$*°r$ 1 Mìü @ 20  

(ee) B Ñ¿êVæü… 1,920 Äæý$*°r$ 1 Mìü @ 22.50  

(ff) C Ñ¿êVæü… 2,496 Äæý$*°r$ 1 Mìü @ 25  

 {ç³† Ñ¿êVæü… çÜ*¦Ë Ìê¿æý Æóÿr$ çÜÐèþ* è̄þ…V> E è̄þ²¨. Ñ¿êV>Ë ÐèþÆæÿ¢Mæüç³# Rê™é è̄þ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

16. The Madras Transport Company purchases a motor car for Bombay motor 

company on hire purchase agreement on 1st January 2017 paying cash 50,000 and 

agreeing to pay further three instalments of 50,000 each on 31st December every 

year. The cash price of the car is 1,86,250/- and Bombay motor company charges 

interest 5% p.a. The Madras Transport company writes off 10% depreciation on 

reducing balances method. Show ledger accounts in the books of Madras Transport 

Company. 

Ðèþ${§éçÜ$ {sê Œ̄þÞ´ùÆæÿ$t Mæü…ò³± 1-1-2017 è̄þ JMæü Ððþ*sêÆæÿ$ M>Ææÿ$¯èþ$ A§ðþª Mö è̄þ$VøË$ ç³§æþ®† è̄þ »Ÿ…»êÆÿ$$ 

Ððþ*sêÆæÿ$ Mæü…ò³± Ðèþ§æþª Mö è̄þ$VøË$ ó̂þíÜ ™èþ„æü×ýÐóþ$ 50,000 Ë$ ^ðþÍÏ…_ Ñ$Væü™é Ððþ$$™é¢°² 3 ÐéÆÿ$$§éËÌZ 

{ç³† çÜ…‘‘ yìþÔèý…ºÆæÿ$ 31 è̄þ 50,000Ë$ ð̂þÍÏ…^èþyé°Mìü A…XMæüÇ…_ è̄þ¨. M>Ææÿ$ Äñý$$MæüP è̄þVæü§æþ$ «§æþÆæÿ 

1,86,250/- Ðèþ$ÇÄæý$$ »Ÿ…»êÆÿ$$ Ððþ*sêÆæÿ$ Mæü…ò³± çÜ…‘‘Mìü 5% Ðèþyîþz Ñ«̈ çÜ$¢̄ èþ²¨. Ðèþ${§éçÜ$ {sê Œ̄þÞ´ùÆæÿ$t 

Mæü…ò³± ™èþVæü$Y™èþ$ è̄þ² °ËÓË ç³§æþ®† Ò$§æþ 10% ™èþÆæÿ$Væü$§æþË è̄þ$ ÌñýMæüPMæür$t̄ èþ²¨. Ðèþ${§é‹Ü {sê Œ̄þÞ´ùÆæÿ$t Mæü…ò³± 

ç³#çÜ¢M>ËÌZ BÐèþÆ>j Rê™éË è̄þ$ è̂þ*ç³…yìþ. 



  

   

17. The following is the balance sheet of A, B and C sharing profits and losses in the 

proportion of 6 : 5 : 3 respectively. 

Liabilities Rs. Assets Rs. 

Creditors 18,900 Cash 1,890 

Bills payable 6,300 Debtors 26,460 

General reserve 10,500 Stock 29,400 

Capitals :  Furniture 7,350 

A 35,400 Land and buildings 45,150 

B 29,850 Goodwill 5,250 

C 14,550   

 1,15,500  1,15,500 

(gg) The agreed to admit D as a new partner with 
8

1 th
 share on following terms: 

(hh) (a) The furniture is to be depreciated by 920. 

(ii) (b) Stock to be depreciated by 10%. 

(jj) (c) A provision of 1,320 be made for outstanding repair bills. 

(kk) (d) The land and buildings to be appreciated to 59,850/- 

(ll) (e) The value of good will be brought upto 14,070. 

(mm) (f) D should bring in 14,700 as his capital. 

(nn) (g) After making the above adjustments the capital accounts of the old partners 

be adjusted on the basis of D’s capital in new profit sharing ratio in the 

business. Excess to be paid off or deficit to be brought in cash. 

(oo)  Show ledger accounts and prepare balance sheet after D’s admission. 

 A, B, C Ë$ ¿êVæüçÜ$¢Ë$V> E…r* Ìê¿æý è̄þÚëtË è̄þ$ 6 : 5 : 3 °çÙµ†¢ÌZ ç³… è̂þ$Mæü$…r$¯é²Ææÿ$. ÐéÇ BíÜ¢ 

Aç³šË ç³sîýt {Mìü…§æþ ±Äæý$ºyìþ¯èþ¨.  

Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

º$$×ý§é™èþË$ 18,900 è̄þVæü§æþ$ 1,890 

^ðþÍÏ…ç³# ¼Ë$ÏË$ 6,300 º$$×ý{VæüçÜ$¢Ë$ 26,460 

Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó 10,500 çÜÆæÿ$Mæü$ °ËÓ 29,400 

Ðèþ$*Ë«§æþ¯éË$:  çœÈ² è̂þÆæÿ$ 7,350 

A   35,400 ¿æý*Ñ$ ¿æýÐèþ¯éË$ 45,150 

B   29,850 Væü$yŠþÑÌŒý 5,250 

C   14,550   

 1,15,500  1,15,500 

 ÐéÆæÿ$ D ° 
8

1
 Ðèþ…™èþ$ Ðésê™ø {Mìü…¨ çÙÆæÿ™èþ$Ë ò³O Mö™èþ¢ ¿êVæüçÜ$¢°V> ^óþÆæÿ$aMæü$¯é²Ææÿ$. 



  

   

 (a) çœÈ² è̂þÆæÿ$ ò³O 920 ™èþÆæÿ$Væü$§æþË HÆæÿµÆæÿ^èþÐèþÌñý è̄þ$. 

 (b) çÜÆæÿ$Mæü$ ò³O 10% ™èþWY…^èþÐèþÌñý¯èþ$ 

 (c) ^ðþÍÏ…^èþÐèþËíÜ¯èþ Ðèþ$ÆæÿÐèþ$Ã™èþ$ ¼Ë$ÏËMæü$ 1320 HÆæÿµÆæÿ^èþÐèþÌñý è̄þ$. 

 (d) ¿æý*Ñ$ ¿æýÐèþ¯éË è̄þ$ 59,850 ËMæü$ ò³…^èþÐèþÌñý è̄þ$. 

 (e) Væü$yŠþÑÌŒý¯èþ$ 14,070ËMæü$ ò³… è̂þÐèþÌñý è̄þ$. 

 (f) D ™èþ è̄þ Ðésê Ðèþ$*Ë«§æþ¯èþ…V> 14,700 ¡çÜ$Mæü$ Æ>ÐèþÌñý è̄þ$. 

 (g) ò³O çÜÆæÿ$ª»êr$Ï ó̂þíÜ è̄þ ™èþÆæÿ$Ðé™èþ ´ë™èþ ¿êVæüçÜ$¢Ë Ðèþ$*Ë«§æþ¯éË è̄þ$ D Ðèþ$*Ë«§æþ¯é°² ºsìýt è̄þ*™èþ è̄þ Ìê¿æý 

è̄þÚëtË °çÙµ†¢ {ç³M>Ææÿ… çÜÆæÿ$ª»êr$ ó̂þíÜ GMæü$PÐèþ E…sôý ¿êVæüçÜ$¢ËMæü$ ð̂þÍÏ… è̂þÐèþÌñý è̄þ$. ™èþMæü$PÐèþ E…sôý 

¿êVæüçÜ$¢Ë$ ¡çÜ$Mæü$ Æ>ÐèþÌñý è̄þ$. 

  AÐèþçÜÆæÿÐðþ$Ō èþ BÐèþÆ>j Rê™éË è̄þ$ ™èþÄæý*Ææÿ$ ^óþíÜ D {ç³ÐóþÕ…_ è̄þ ™èþÆæÿ$Ðé™èþ BíÜ¢ Aç³šË ç³sîýt ™èþÄæý*Ææÿ$ 

^óþÄæý$…yìþ. 

18. A company invited the public to subscribe for 10,000 equity shares of 100/- each at 

a premium of 10/- per share payable an allotment. Payments were to be made as 

follows: 

(pp)  On application 20/-  On allotment 40/- 

(qq)  On first call 30/- On final call 20/- 

(rr) Applications were received for 13,000 shares. Applications for 2,000 shares were 

rejected and allotment was made proportionately to the remaining applicants. 

Both the calls were made and all the moneys were received except the final call on 

300 shares which were forfeited  after due notice. Later 200 of the forfeited  shares 

were issued as fully paid at 85/- per share. 

(ss) Pass journal entries in the books of the company. 

JMæü Mæü…ò³± 10,000 ÐésêËMæü$ JMöPMæüPsìý Ææÿ*.100 Ë ÑË$Ðèþ VæüËÑ Ðésê 1 Mìü 10 {ï³Ñ$Äæý$…™ø 

{ï³Ñ$Äæý$… MóüsêÆÿ$$…ç³#ÌZ ^ðþÍÏ… è̂þ$ ç³§æþ®† è̄þ {ç³fË ¯èþ$…yìþ §æþÆæÿRêçÜ$¢Ë è̄þ$ ïÜÓMæüÇ… è̂þ§æþË_ è̄þ¨. Ðésê 

ÑË$Ðèþ è̄þ$ §æþÆæÿRêçÜ$¢ò³O 20/-, MóüsêÆÿ$$…ç³# ò³O 40/- Ððþ$$§æþsìý í³Ë$ç³# ò³O 30/- ™èþ$¨ í³Ë$ç³# ò³O 20/- ^öç³š è̄þ 

ÐèþçÜ*Ë$ ó̂þÄæý$$§æþ$Ææÿ$. 

 13,000 ÐésêËMæü$ §æþÆæÿRêçÜ$¢Ë$ Æ>V> 2000 ÐésêË §æþÆæÿRêçÜ$¢Ë¯èþ$ {†í³µ ç³…í³¯éÑ. Ñ$Væü™é §æþÆæÿRêçÜ$¢ 

§éÆæÿ$ËMæü$ A°² ÐésêË è̄þ$ §éÐèþ*Úë ç³§æþ®† è̄þ MóüsêÆÿ$$…_¯éÆæÿ$. Æðÿ…yæþ$ í³Ë$ç³#Ë$ í³ËÐèþV> 300 ÐésêË 

Ò$§æþ ™èþ$¨ í³Ë$ç³# Ý÷Ðèþ$$Ã Ñ$ è̄þà Ñ$Væü™é Ððþ$$™é¢Ë±² ÐèþçÜ*ÌñýŌ éÆÿ$$. B ÐésêË¯èþ$ ™èþW è̄þ ¯øsîýçÜ$™ø fç³#¢ 

^óþíÜ¯éÆæÿ$. B ™èþÆæÿ$Ðé™èþ fç³#¢ ó̂þíÜ¯èþ ÐésêËÌZ 200 ÐésêË è̄þ$ Ðésê 1 Mìü 85/- ^öç³š è̄þ ç³NÇ¢V> ð̂þÍÏ…_ è̄þ 

ÐésêV> †ÇW gêÈ ó̂þíÜ¯éÆæÿ$.  Mæü…ò³± ç³#çÜ¢M>ËÌZ _sêt ç³§æþ$ªË è̄þ$ {ÐéÄæý$…yìþ. 

  



  

   

(DBC 23) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year  

QUANTITATIVE TECHNIQUES - II 

Time : Three hours Maximum : 70 marks 

SECTION A — (4 × 5 = 20 marks) 

Answer any FOUR of the following questions. 

1. What is a Time series? Quote two definitions. 

 M>Ë{Ôóý×ìý A è̄þV> ó̄þÑ$? HÐðþŌ é Æðÿ…yæþ$ °ÆæÿÓ^èþ¯éË$ è̄þ$ {ÐéÄæý$…yìþ. 

2. Define Index numbers. 

 çÜ*` çÜ…QÅË$ & °ÆæÿÓ_…ç³#Ðèþ$$. 

3. Explain various types of Probabilities. 

 ÑÑ«§æþ ÆæÿMæüÐèþ$$ÌñýŌ èþ çÜ…¿êÐèþÅ™èþË è̄þ$ Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

4. Main features of a normal probability distribution. 

 Ýë«§éÆæÿ×ý çÜ…¿êÐèþÅ™é Ñ¿êf è̄þ… Äñý$$MæüP Ðèþ$$QÅ Ë„æü×êË$. 

5. Differences between Graphic solution and simplex solution. 

 "{V>íœMŠü Ý÷Ë*ÅçÙ Œ̄þ' Ðèþ$ÇÄæý$$ "íÜ…ò³ÏMŠüÞ Ý÷Ë*ÅçÙ Œ̄þ'Ë Ðèþ$«§æþÅVæüË ™óþyéË$ HÑ? 

6. Explain the essential  characteristics  of a Time series. 

 M>Ë{Ôóý×ìý Äñý$$MæüP BÐèþÔèýÅMæüÐðþ$Ō èþ Ë„æü×êË è̄þ$ ÑÐèþÇ… è̂þ…yìþ. 

7. Limitations of Index numbers. 

 çÜ*` çÜ…QÅË Äñý$$MæüP ç³ÇÑ$™èþ$Ë$. 

8. Various types of theorem of probabilities. 

 ÑÑ«§æþ ÆæÿMæüÐèþ$$Ë çÜ…¿êÐèþÅ™èþ íÜ§é®…™éË$. 



  

   

SECTION B — (2 × 15 = 30 marks) 

Answer any TWO of the following questions. 

9. From the following data construct the Fisher’s ideal index number and show that it 

satisfies the (a) Time reversal test and (b) Factor reversal test 

¨Væü$Ðèþ §æþ™é¢…ÔèýÐèþ$$ è̄þMæü$ íœçÙÆŠÿ B§æþÆæÿØ çÜ*` çÜ…QÅ è̄þ$ °ÇÃ…_, A¨ (a) M>Ëç³ÇÐèþÆæÿ¢̄ èþ ç³È„æü è̄þ$ Ðèþ$ÇÄæý$$ 

(b) M>ÆæÿM>Ë ç³ÇÐèþÆæÿ¢̄ èþ ç³È„æü è̄þ$ º$$kÐèþ# ^óþçÜ$¢…§æþ° ^èþ*ç³…yìþ. 

Commodity 

(ÐèþçÜ$¢Ðèþ#Ë$) 

Base year 

(B«§éÆæÿ çÜ…Ðèþ™èþÞÆæÿÐèþ$$) 

Current Year 

({ç³çÜ$¢™èþ çÜ…Ðèþ™èþÞÆæÿÐèþ$$) 

Quantity 

(ç³ÇÐèþ*×ý…) 

Value 

(ÑË$Ðèþ) 

Quantity 

(ç³ÇÐèþ*×ý…) 

Value 

(ÑË$Ðèþ) 

W 100 150 500 900 

X 80 100 320 500 

Y 60 72 150 390 

Z 30 33 360 297 

10. Using the method of Semi-averages determine the trend and short-term fluctuations 

for the following data: 

¨Væü$Ðèþ §æþ™é¢…ÔèýÐèþ$$ è̄þMæü$ ´ë„ìüMæü&çÜVæür$ ç³ ®̈†° A è̄þ$çÜÇ…_, {ç³Ðèþ–†¢ ÑË$ÐèþË è̄þ$ °Æ>®Ç… è̂þ…yìþ Ðèþ$ÇÄæý$$ 

çÜÓËµM>Ë…ÌZ §é°ÌZ° Ðèþ*Ææÿ$µË è̄þ$ °Æ>®Ç… è̂þ…yìþ.  
Year : 

çÜ…Ðèþ™èþÞÆæÿ…: 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 

Production  

(in ’000 tonnes) 

E™èþµ†¢ 
(’000 r è̄þ$²ËÌZ) 

31 32 33 33 34 32 35 36 37 36 

 Also plot the original and trend values on the same graph paper. 

{V>‹œ õ³ç³Ææÿ$ çÜàÄæý$…™ø ÐéçÜ¢Ðèþ ÑË$ÐèþË è̄þ$ Ðèþ$ÇÄæý$$ {ç³Ðèþ–†¢ ÑË$ÐèþË è̄þ$ X_ è̂þ*ç³…yìþ. 

11. Differentiate the following function w.r. to x  

¨Væü$Ðèþ {ç³Ðóþ$Äæý*Ë è̄þ$ AÐèþMæüË è̄þÐèþ$$ ó̂þÄæý$…yìþ.  

 (a) ( )535 935 −− xx  

 (b) 
xe

x
x log

3
4

2

+

+
 

 (c) ( ) xex 53 3+  



  

   

12. Evaluate the following integrals. 

¨Væü$Ðèþ çÜÐèþ*MæüË è̄þ çÜÒ$MæüÆæÿ×êË è̄þ$ Ýë«̈ … è̂þ…yìþ. 

 (a) ∫ dxe
x .7  

 (b) 
( )∫ −+

dx
x 532

1
2

. 

 (c) ∫
+

dx
x

x

53

2

 

SECTION C — (2 × 10 = 20 marks) 

Answer any TWO of the following questions. 

13. From the following series find 3 yearly and 5 yearly moving averages. 

¨Væü$Ðèþ °ÐèþÓºyìþ¯èþ {Ôóý×ìý è̄þ$…_ 3 çÜ…Ðèþ™èþÞÆ>Ë$ Ðèþ$ÇÄæý$$ 5 çÜ…Ðèþ™èþÞÆæÿÐèþ$$Ë è̂þÍ™èþ Ðèþ*«§æþÅÐèþ*Ë è̄þ$ 

ÌñýMìüP…^èþ…yìþ. 

Year :  

çÜ…Ðèþ™èþÞÆæÿ…: 2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 

Value: 

ÑË$Ðèþ: 2 3 5 8 12 17 23 30 38 47 57 

14. Using both arithmetic mean and geometric mean construct a price index for 2018 

with 2013 as base under 

A…MæüÐèþ$«§æþÅÐèþ$Ðèþ$$ Ðèþ$ÇÄæý$$ Væü$×ý Ðèþ$«§æþÅÐèþ$Ðèþ$$¯èþ$ Eç³Äñý*WçÜ*¢ 2018Ðèþ çÜ…Ðèþ™èþÞÆ>°Mìü, 2013° B«§éÆæÿ 

çÜ…Ðèþ™èþÞÆæÿ…V> ¡çÜ$Mö°  

 (a) Simple aggregative method and 

 Ýë«§éÆæÿ×ý çÜVæür$ ç³§æþ®†° Ðèþ$ÇÄæý$$ 

 (b) Average of price relative method. 

 «§æþÆæÿË çÜVæür$ ç³§æþ®† è̄þ «§æþÆæÿ çÜ*` çÜ…QÅË è̄þ$ HÆ>µr$ ó̂þÄæý$…yìþ.  

Commodity 

ÐèþçÜ$¢Ðèþ#Ë$  A B C D E F 

Price in 2018 

2018 ÌZ «§æþÆæÿ 30 35 20 40 50 60 

Price in 2013 25 35 15 30 45 55 



  

   

2013 ÌZ «§æþÆæÿ 

15. A bag contains 5 black and 7 white balls. A bill is drawn out of it and replaced in the 

bag. Then a ball is drawn again. What is the probability that 

JMæü çÜ…_ÌZ 5 è̄þË$ç³# Ðèþ$ÇÄæý$$ 7 ™ðþË$ç³# º…™èþ$Ë$ MæüÍW Ðèþ# è̄þ²Ñ. çÜ…_ è̄þ$…_ JMæü º…†° ºÄæý$rMæü$ 

¡íÜ Ðèþ$ÆæÿË A…§æþ$ÌZ †ÇW ÐóþíÜ ÐóþÆöMæü º…†° ¡íÜ è̄þ {Mìü…¨ Ñ«§æþ…V> çÜ…¿êÐèþÅ™èþMæü$ V> è̄þ$ ÌñýMìüP… è̂þ…yìþ. 
 (a) Both the balls drawn were black 

 ¡íÜ è̄þ Æðÿ…yæþ$ º…™èþ$Ë$ è̄þË$ç³# AVæü$rMæü$ 
 (b) Both were white 

 ¡íÜ è̄þ Æðÿ…yæþ$ º…™èþ$Ë$ ™ðþË$ç³# AVæü$rMæü$ 
 (c) The first one was white and the second one black and 

¡íÜ è̄þ Ððþ$$§æþsìý º…† ™ðþËÏ°¨ Ðèþ$ÇÄæý$$ Æðÿ…yæþÐèþ º…™èþ$ è̄þË$ç³# AVæü$rMæü$ 
 (d) The first one was black and the second one white 

¡íÜ è̄þ Ððþ$$§æþsìý º…† ¯èþË$ç³# Ðèþ$ÇÄæý$$ Æðÿ…yæþÐèþ º…† ™ðþË$ç³# AVæü$rMæü$ 

16. Fit a Poisson distribution to the following data relating to typing mistakes 

committed by a typist. 

JMæü sñýOí³‹Üt ó̂þíÜ è̄þ sñýOí³…VŠü ™èþç³šËMæü$ çÜ…º…«̈ …_ è̄þ ÑÐèþÆ>Ë è̄þ$…_ "´ëÆÿ$$gê Œ̄þ Ñ¿êf è̄þ…' è̄þ$ Mæü è̄þ$Vö è̄þ…yìþ. 
No.of mistakes per page 

JMæü õ³iÌZ° ™èþç³šË$ 0 1 2 3 4 5 

No.of pages 

õ³iË çÜ…QÅ 142 156 69 27 5 1 

17. Find the maxima and minima of the following function. 

¨Væü$Ðèþ {ç³Ðóþ$Äæý*°Mìü VæüÇçÙt Ðèþ$ÇÄæý$$ Mæü°çÙt ÑË$ÐèþË è̄þ$ Mæü è̄þ$Vö è̄þ…yìþ. 

 25201513 234 +++= xxxy . 

18. Convert the following dual problem into the primal problem 

¨Væü$Ðèþ ±Äæý$ºyìþ¯èþ §æþÓ…§æþÓ çÜÐèþ$çÜÅ è̄þ$ primal çÜÐèþ$çÜÅV> Ðèþ*Ææÿa…yìþ. 

 Maximize (VæüÇïÙtMæüÇ…ç³#Ðèþ$$) : 321 xxx ++  

 Subject to  (çÜ»ñýjMŠüt r$) 322 321 ≤++ xxx  
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B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

Second Year           

FUNDAMENTALS OF COMPUTERS 

Time : Three hours Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR questions. 

1. What is the use of plotters and projectors? 

 ´ëÏrÆæÿ$Ï Ðèþ$ÇÄæý$$ {´ùgñýMæütÆæÿ$Ë$ Äñý$$MæüP Eç³Äñý*Væü Ðóþ$Ñ$sìý. 

2. What are the limitations of computer? 

 Mæü…ç³NÅrÆæÿ$ Äñý$$MæüP ç³ÇÑ$™èþ$Ë$ HÑ? 

3. Write a syntax and examples for creating sub directory. 

 Sub directory Ë$ ™èþÄæý*Ææÿ$ ^óþÄæý$$rMæü$ syntax Ë$ Ðèþ$ÇÄæý$$ E§éçßýÆæÿ×ýË è̄þ$ {ÐéÄæý$…yìþ. 

4. What is the impact of computer on business? 

 Business Ò$§æþ Mæü…ç³NÅrÆæÿ$ Äñý$$MæüP {ç³¿êÐèþÐèþ$$ HÑ$sìý? 

5. What are wildcard characters under DOS? 

 DOS ÌZ VæüË ÐðþOË$z card Ë„æü×êË$ HÑ$sìý. 

6. What is report generator? 

 Ç´ùÆæÿ$t gñý¯èþÆóÿrÆæÿ$ A è̄þV> ó̄þÑ$? 

7. Draw a flowchart for sum-of-'n' numbers. 

 'n' ¯èþ…ºÆæÿÏ  Ððþ$$™èþ¢Ðèþ$$ è̄þMæü$ flowchart è̄þ$ XÄæý$…yìþ. 

8. Give an examples for Restore statement in BASIC language. 

 BASIC Ìê…VóüÓhÌZ Restore statement MöÆæÿMæü$  

E§éçßýÆæÿ×ýË è̄þ$ CÐèþÓ…yìþ. 

SECTION B — (2 × 5 = 10 marks) 

Answer any TWO questions. 



  

   

9. What are the elements of computer? 

 Mæü…ç³NÅrÆæÿ$ Äñý$$MæüP ¿êV>Ë$ HÑ$sìý? 

10. Write any five external commands of DOS. 

 DOS Äñý$$MæüP H§ðþŌ é I§æþ$ external MæüÐèþ*…yæþÏ̄ èþ$ {ÐéÄæý$…yìþ. 

11. What are the options in Quick Menu? 

 Quick Menu ÌZ VæüË Aç³Û̄ èþ$Ï HÑ? 

12. Give an examples for variables and operators. 

 ÐóþÇÄæý$º$ÌŒý Ðèþ$ÇÄæý$$ Bç³ÆóÿrÆæÿÏMæü$ E§éçßýÆæÿ×ýË è̄þ$ CÐèþÓ…yìþ. 

SECTION C — (3 × 16 = 48 marks) 

Answer any THREE questions. 

13. Explain different types of RAM and ROM and Cache memory. 

 ÑÑ«§æþ ÆæÿMæüÐèþ$$ÌñýŌ èþ RAM, ROM Ðèþ$ÇÄæý$$ Cache Ððþ$Ððþ*ÈË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

14. Explain various types of computers. 

 ÑÑ«§æþ ÆæÿMæüÐèþ$$ÌñýŌ èþ Mæü…ç³NÅrÆæÿ$Ï̄ èþ$ ÑÐèþÇ… è̂þ…yìþ. 

15. What is the meaning and purpose of DOS? Explain about File management. 

 DOS Eç³Äñý*VæüÐèþ$$¯èþ$ Ðèþ$ÇÄæý$$ AÆæÿ®Ðèþ$$ HÑ$sìý? òœOË$ Ðóþ$ ó̄þgñýÃ…r$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

16. What are the features of Word Processing? 

 Word {´ùçÜíÜ…VŠü Äñý$$MæüP ïœ^èþÆæÿ$Ï HÑ$sìý? 

17. Explain about high level languages, machine codes and Assembly codes. 

 òßýOÌñýÐðþÌŒý Ìôý…VóüÓh, Ððþ$çÙ Œ̄þ code Ë è̄þ$ Ðèþ$ÇÄæý$$ AòÜ…½Ï  

code Ë è̄þ$ ÑÐèþÇ…^èþ…yìþ. 

18. What are the branching statements in BASIC language? Explain with examples. 

 BASIC Ìôý…VóüÓhÌZ VæüË {»ê…_…VŠü statements Ë$ HÑ? E§éçßýÆæÿ×ýË™ø ÑÐèþÇ… è̂þ…yìþ.  

 


